=
N = O & At Al
20124 E 20I& JIEFSEEH &
SEEEnT
seAWA Y3t
SMSMI|HR(HIISRL 2SS SHaH) chol H R
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES &hoh Ofl At ot Hws2
2t 8,875 43,000 A34,125
yme s 8,875 43,000 A34,125
MMM (HIISRLLLS SEH) 8,875 43,000 A34,125
SASMI| el 75 75 0
201 YBr2 | 75 75 0
01 AtR 22l 75 75 0
OMIILMRURLD Hrs4E
500,000 * 5/100 75
Ml HE AL s 7,500 35,309 £27,809
401 A& H L 2 THY| 7,500 35,309 £27,809
01 Al& | 7,500 35,300 £27,809
OMYIIMeIF HHS FHl 6,000,002 * 1A 6,000
OHOIZCH Fb| 1,500,000 * 1CH 1,500
R 1,300 7,616 76,316
801 0l bl bl 1,300 7,616 76,316
01 OiIHI ] 1,300 7,616 £6,316
CLEIE 1,300,0002 1,300




N = 0l & AF & F Al A

SN FoI=X D
M HHSAAY (FO=X D)

CHol: QIS AU (ABIZXI ) (IBSHIIS SEIH) (erel: @2
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ

=02 X ot 3,874,068 3,746,647 127,421
= 1,143,771
Al 2,730,297
BHSHHU(FLU=X D) 34,255 30,870 3,385
= 34,255
oA (AEI2XT)(ARS00I2 SL3H) 34,255 30,870 3,385
= 34,255
o124 34,255 30,870 3,385
= 34,255
101 Q124 4| 34,255 30,870 3,385
= 34,255
03 RIAHA2Z 24 34,255 30,870 3,385
ooz Z0iTelAt Qe 34,255
oo (U2) 20,100,0002 20,100
= 20, 100
oozZaELY 352,0002! * 122 4,224
= 4,224
O®Xt4+Z  28,882,0008 / 3652 * 1Y 871
= 871
OYEEIH 900,0008! * 23 1,800
= 1,800
ozl 120,0002 * 128 1,440
= 1,440
OnsH 10,0008 * 128 1,320
= 1,320
O4UBEE XXSHMELS 4,500,002 4,500
= 4,500
ABIAIEIE X EX 2,692,296 2,718,446 £26,150
MASTOMEON)Z2Y(MNASTRMBOEYI| SR 2,692,296 2,718,446 ~26,150
2l SE3H)
HASFOIMEONIZER 104,365 203,960 99,595
201 Yete | 4,365 3,960 405
02 2229l 4,365 3,960 405
OMEIANIZ SHATEY N X E2H|
121,25080 * 122 * 3} 4,365
501 SX2 100,000 200,000 100,000
01 BItE X2 100,000 200,000 100,000
ONASFRIMBOFI|Z SR
10,000,008 * 10% 100,000
ol Bl bl 2,587,931 2,514,486 73,445
801 OilHI 2,587,931 2,514,486 73,445
01 ofl bl bl 2,587,931 2,514,486 73,445
CLEIN] 2,587,931,0008! 2,587,931




2A: =
X zH: 20O
o T —/

= al
el A2a0 Jgtxd(2Ad=23003

Jm
g
ton
X
m
{0
[Pl
10

SN - E3H .2 (S H) - NIBAY - B &

F
0x
Jo
=
22
J2

=2

Rl

12
==
S
Ol
0

=00 =dE Has 1,109,516 957,330 152,186
= 1,109,516

=230 JIBtxH(d=2=0II= SEIAH) 1,109,516 957,330 152,186
S 1,109,516

e e 1,109,516 957,330 152, 186
< 1,109,516

101 el Hl 140,535 135,430 5,105
= 140,535

04 JI2ZMZ22ASE =+ 140,535 135,430 5,105

O2A= g0 2clAL 1A

1,720,000& * 42 = 123 82,560
= 82,560
OAZ2 =& 13,2983 *16Al 2tx4H x 128 10,213
S 10,213
O£& 04 160,0008 = 5& * 12& 9,600
= 9,600
O&X= 1,720,000& * 4H 6,880
< 6,880

10, 137,000& 10,137
10,137

H

02220 MARlE LAIAIS Q2]

831,041 x6 % *43] 21,145
= 21,145

201 YEr2gy| 6,951 9,700 A2,749
= 6,951

01 At 22|t 6,951 9,700 A2,749

OAZZoAARNG BELY

70,0008 * 2% * 53] 700
= 700

18,0008 * 602t A 1,080
= 1,080
O2d=s0s2 48 R

40,0008 * 6&tA x 45 960
= 960
02dzs0 222 R 283,500& * 65 1,701
< 1,701

O2d=s50s R ZeH EH F#¥
185,000& = 64 1,110
= 1,110
02d=20 W=l 280,000& * 5¥ 1,400
< 1,400

202 O4H| 16,230 10,000 6,230

H
>
[
w
S

01 =LHOAbI 16,230 10,000 6,230




2A: =
X zH: 20O
o T —/

= al
el 2220 Jlgtxd

ot 1220212 SE3H) (9 ®2
SA - EH L ORI(B) - MRAIY - HAS 0] & e HlDE2
0= =Y RFE Kl
19,8893 * 69 * 136 16,230
= 16,230
307 21201 & 931,800 798,200 133,600
& 931,800
01923 =Hl 931,800 798,200 133,600
oO=z2Xt 83220 XA 931,800
O EEHF 1,868,5002 * 2004 373,700
& 373,700
O2o=eg=24a3 105,000& * 5009 52,500
& 52,500
O2oRga=3 20,000& * 850 17,000
& 17,000
ObtA Q2| 121,2128 » 119 » 123] 16,000
& 16,000
ONs=YES 1,266,666% * 8% » 123 121,600
& 121,600
OAHZME S I 25,000& * 14,0004 350,000
& 350,000
O°230 BYHD 4D TN
0,000& * 50 1,000
= 1,000
405 RHebE S| 10,000 0 10,000
= 10,000
01 ARt 2 EFH S| 10,000 0 10,000
O MRE BFH 7Y 2,000,000& = 5CH 10,000
& 10,000
501 X3 4,000 4,000 0
& 4,000
01 BI2tE k= 4,000 4,000 0
Oz 20+=2X(28) HE3
400,000& * 10H 4,000
& 4,000
Heas (==X 38,001 40,001 A 2,000
BEIE(Q230II=2 SE3H) 38,001 40,001 A 2,000
I2SHELEIA 38,001 40,001 A2,000
802 gret=zJ| Et 38,001 40,001 A2,000
02 Al - SHIEXSEHE= 1 1 0
OU=EX 1,000& 1
03 AE3S 38,000 40,000 A2,000
otteag 38,000
Os3023 ol 3,000,000& 3,000
oolzztEkta 3l 500,000& 500
O&=+¢ 30,000, 000& 30,000




M EU= Y
B YREE(FU=X D)
o BEXE(Q=220II12 SE3AH)

= % ol (5 = — dE e

O E=¢ 4,500,000 4,500




N = 0l & AF & F Al A

SN &R
HE: 2RO oY U HA
SRl AR (LRNL SEaH) (25l &2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
220 640,517 1,035,185 394,668
| 636,517
Al 4,000
SERY oY U A 83,517 78,547 4,970
Il 79,517
Al 4,000
SEHL(SBHS SH3H) 83,517 78,547 4,970
| 79,517
Al 4,000
+HRYBYUH =X 79,517 75,367 4,150
| 79,517
207 A <1 IH | 79,517 75,367 4,150
Il 79,517
01 et RO 79,517 75,367 4,150
020118 X2 Suel 0B LI}
60,000,0002! * 14! 60,000
| 60,000
02012 HEARAE 2LIHY
19,517,008 * 14} 19,517
| 19,517
R 4,000 3,180 820
801 0l bl bl 4,000 3,180 820
01 OiIHI ] 4,000 3,180 820
O+ZHBTHEZ OlUlHl 4,000,008 4,000
NEEEE) 557,000 956,638 £399,638
| 557,000
WS HANKIS (= BHE SBaIH) 557,000 956,638 £399,633
)| 557,000
HEHHKIZ 557,000 956,638 A 399,638
| 557,000
404 BIIATIEFHES 557,000 956,638 £399,633
| 557,000
01 BIILSHINNSHED 557,000 956,638 £399,633
OSI+EBIILSHIN NH=2HES 557,000
ORAE U YA H2lTY SH-BHF|
94,000, 0002 94,000
| 94,000
O+2H2UST 42N BH AL
87,000, 0002 87,000
| 87,000
OMLEBRS H2lAA 59,000, 0002 59,000
o] 59,000
OB ZCS0s 2l Al & 317,000,0002 317,000
| 317,000




D AIAE
DANNES EAAE

N = O &

A E E Al

DEDIDIEEY ZAIHE AMEEA(UHXEY EE3) E)
_ _ _ Muo
SN H - SR(EH) - NPAMY - BES arey e =2

S ALA = Bt 531,935 531,935

A2 EAIAE 531,935 531,935

001 E SAAHE ANE24(UHEY SEIAH) 531,935 531,935

ZIIDIEEZAHE AL E 4 522,600 522,600

401 Al EHIZ 2 OhY| 522,600 522,600

01 Al£Hl 522,600 522,600
o=X 80,000,000 = 42X 320,000
(OPNRS§=—=4--3 30,000,000 = 4= 120,000
OXNE=SEN 20,000,000& * 4= 80,000
OZ&EE I 150,000& = 42X 600
OS8JI0I&8x=== 100,000& = 42X 400
OFg=+sa 400,000& =+ 42X 1,600

ol gl bl 9,335 9,335

801 oI bl 9,335 9,335

01 0ild1 bl 9,335 9,335
Ol 9,335,000 9,335




N = 0l & AF & F Al A

2N DSHHD
HE: HYSAAH (DS Y)
el o2 YH(REAY SEE) (e & 2
SN EB -GS - MBAY - BES 0 & 24 e HRE2
DEHID 7,022,403 0 17,022,403
2 2,100,000
Al 14,922,403
HHESAZH (DSHI D) 863,832 0 863,832
Ol (WSAY SE3IH) 789,468 0 789,468
o1 24l 787,608 0 787,608
101 2121t 787,608 0 787,608
02 JIEFE 2 4 42,577 0 42,577
ons¥ex 24 42,577
ootz 36,000,0008 * 1% 36,000
OXs4+g 1,440
~HH 2 Xt 40,0008 * 1% » 128 480
=% 20,0002 * 4% « 128 960
OARtel4g 6,727 * 35AI2F » 122 2,826
O ZAlH| 30,0002 * 128 1,560
Ot Al
37,200,008 * 66% * 1/12 * 1/30 » 11 751
03 RI|HAZZ X2 4 745,031 745,031
OFIA NETSHoLY 656,702
oo =(2) 443,784
24U %} 33,888,0002 * 1% 33,888
7E R 28,988,0002 * 2% 57,976
~16 Xt 28,288,0008 * 1% 28,288
~15U Xt 27,588,0002 * 2% 55, 176
~10% & 24,088,000 * 2% 48,176
-9 Xt 23,388,000 * 2% 46,776
-8 1t 22,688,0002 * 2% 45,376
SRS, 21,988,0008 * 4% 87,952
SERY, 21,288,0002 * 1% 21,288
SIERY 8,888,0002 * 1% 18,888
O+g 123,633
tEsg 18,240
LY 40,0008 * 18% » 128 8.640
C =S 20,0002 + 40 * 128 9,600
QY22 AY 358,008 « 18 + 128 77,328
-YaRLy
89502 * 4AI2F x 182 * 128 7.733
~91 X4
31,088,000 / 3652 * 112 * 183 16,865
RAUEE IS 3,472
nEL i 433,880 * 22 * 43l 3,472




oF
R’

ok
ol

R0 80 30
60 OF OF
10 &0 ®r
& %0 ol

= A
X ZH

.ﬁ
0

=g

e

n0

KIo

Bl w

1,860
1,860
1,860

74,364

74,364
32,124
29,280

2,844

37,440
37,440

4,200
4,200
600
600

H3ar
uiled
RIS

=
o

s

<J

39,600
25,920
23,760
68,329
29,552

9,194
18,519

1,213
9,851
20,000

1,860
1,860
1,860
1,860

74,364

74,364
32,124
29,280
9,840
9,840
19,440
10,800
4,320
4,320

2,844
2,844

2,400

37,440
37,440
37,440
24,000
6,720
6,720

4,200
4,200
4,200
600
600

120,000& = 128 » 18¢¥

=l

110,000& = 128 » 18¢¥

1,100,000& » 18H * 2

Jtdl

SHl
C4U=EE Xt

[l

2« 4.5%

fo
3]
ol

fir

656,702,000

656,702,000
656,702,000 = 2.82%

4 % 1.4%

=
=

b0
H
)
~

[mz]
=]

2| % 2

=

[=]

o
[l

4% 1.5%

e

18,519,000 * 6.55%
10,000,000

656,702,000

i

2« 128

=

o

Kr
ol

O
Kl
o

165,000

O

o}

ur

2|

us)

o

9,840,000&

10,800,000
4,320,000
4,320,000

2eltl

01 At

2

K0

00
<0

|

RO

or

0o

128

2 x

.

KO
RO

=
10

24,000,000&

=

& o« 200 ~ 6%

200,000

3,700,000

A= ALD|

OJ1=&H4

01 S LHAOHI

202 (44l

K0

00
<0

2|

=

128

o
[uind

2l %

6,720,000&

6,720,000

350,000

=k
©J1ZH (=@ 302 0I5 &)

R0
ok
31

RO
uir




SN DSHFDY
Hu: HESAAH (WSHID)
CHel: JIE2FHI(REAMY SE3IH) (chel:®E)
_ o MEc =
SA-ZH-EA(SH) - MEAD - BES Off AF o 0Ol At o8 HmsS2
OuNsSHEH AN HUESHl 50,000 » 12 600
Helst =188 &4 2,144,772 0 2,144,772
FNE EH U F2I(DSAIY SE3H) 381,208 0 381,206
A 25 381,208 0 381,206
201 L2 33,880 0 33,880
01 AtR 22l 31,480 0 31,480
O=F=XELEX 2L 4,000
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- S0otiets
40,000 *» 7004 * 12& 33,600
40,000& = 70004 ~ 12&8 33,600
-S0oIJt0iet GHI$& 1,000,000& * 10CH 10,000
OF3xHs 228 |X
2,000,000& 123 24,000
osd 22l Z208 2
275,000& = 123 3,300
On3x S4&dl 2X 471
-0E 1,000,000& = 7CH * 6% 420
-SUHE 170,000& = 501 * 6% 51
OgAMA J1EI1 |AX
120,000 = 1CH » 123] 1,440
O=F & HHIRX 1,937
-JX &
6,578,720& * 100 * 6% 395
-dIolMEEH 1,400,000& = 5CH * 6% 420
-Z2otE el 7,000,000& = 2CH * 6% 840
-& Xt 3,700,000& * 1CH * 6% 222
-BmA 1,000,000& * 1CH = 6% 60
OXr&t 44 Ekl)
4,000,000& = 5CH 20,000
OHSXET CCTVItH el = X2 +=H|
3,000,000& = 4CH 12,000
202 o4 4l 17,232 17,232
01 =2 A 3,072 3,072
o=g% 3,072




PN nSHAD
Mo mHolE FNEY T4
©el: FEX 2 (nSAY SE3IH) AR
S HE - S(EH) - NRAY - BES sk oy S 2
0f 4 o
ONQIBRIZ ¥ FENTS S A2EA Of
Hl 3,072,000& 3,072
02 MO 14,160 14,160
oyEg+x3d 7,080
ORY XX & X E el
170,000& = 3¥ * 12& 6,120
Os8F=EXUH=E=E 0yl 960, 000& 960
(OF-2=Errs! 7,080
OSSXIXe & X =el
170,000& = 3H « 120H& 6,120
Os28=EXH=E=8 oyl 960, 000& 960
301 BB 4 87,694 87,694
09 SU2RRABL S 85,294 85,294
O=3xt NEHE FX 85,294
O 2d22¥ B3 76,508
skl 94,7003 *» 239 * 12& 26,138
-S4 5,000& » 239Y  25¢ * 123 34,500
-w=Hl 2,300% *23% » 262 » 12& 15,870
on =l 4,646
=282 60,0003 *23% » 2& 2,760
-2E s 75,0009 * 23F x 15 1,725
=282 7,0008 * 23¥ » 15 161
oot ¥ 52 FEIHESESAI
6,000& * 239 * 303l 4,140
10 HAIAHIE &3 2,400 2,400
oyEg+xEd 1,200
OFZ s AMUHENE L S4H & Kbl
15,000& * 40% * 23| 1,200
(OF=3=EnFS| 1,200
OFZ XS AMUENE LN S4H & 0l
15,000& * 40% * 23| 1,200
307 21zZtol ™ 288,000 288,000
05 QI”tREZ 288,000 288,000
oyeg+x3d 115,200
OS2 =&Xt ¢ CCTv 2LIHE 2xE4H
1,200,000& = 8% » 123 115,200
(O =3=EnFS| 172,800
OSg8=8X 2= CCIVELIHE EXEY
1,200,000& * 12% * 12& 172,800
401 Al & HI L 2 THH| 30,000 30,000
01 A& HI 30,000 30,000
oyg+xd 12,000




SN DEHF D
Ho: mels ey 24
oHelr FHI 2L2(RDEAY SL3IH) (s &
- PSS
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
OZHX2X EXN® X ¢ LA
300,000 * 307K £ 9,000
OFFX A LOHDM U A824
150,0008 * 200H £ 3,000
CEI=Ent- 18,000
OFFNSNEXNT X L 0
300,000 * 457K £ 13,500
OFFI S LOHEM o A|l88s
150,0008 * 30JH £ 4,500
405 RHAHE SH 5,000 0 5,000
01 AL SE 3 S| 5,000 0 5,000
o=% 500
OLMTR SH&2 CXgitne 72
500,0002 * 1CH 500
oagTH 2,500
odxgstoet 2 500,0008 * 1CH 500
OSH&Xia ga4ebA 19l 400,0008 * 504 2,000
OE=Fut- 2,000
OStxtgt g2etA 190 400,0008 * 504 2,000
SYTHI CCVEHS UHSSAY 288,441 0 288,441
401 Al HI 2 2 THY| 288,441 0 288,441
01 Al&HI 286,497 0 286,497
OSYFHI CCTVEHItI2H AXI(A4)
30,000,0008 * 49§ A 120,000
OSYFHI CCTVEHSItNIeH IS3HALY
25,000,00080 * 6§ A 150,000
OSHFHI CCTVEISItHIH EXI Al A& A
120,000,000 * 6.11% 7,332
OSHFHI CCTVELS IR RHSEHAIY Al Al
S Y| 150,000,000 * 6.11% 9,165
03 A& S CH] 1,944 0 1,944
OSHFHI CCTVEISIIHIRH EXIAY SO
120,000,000 * 0.72% 864
OSYF=HI CCTVEHSIINIR ISAY 2
bl 150,000,000 * 0.72% 1,080
HEIDER35 HE 11,722,252 0 11,722,252
2 2,100,000
Al 9,622,252
DWESHHME (NEASY SE3|H) 1,774,068 0 1,774,068
BHOolg 22 353,317 0 353,317
201 et 8,000 0 8,000
02 2329l 8,000 0 8,000
OAQI, DEHAEHDYE S#3NARLS
2,000,00081 * 244 = 23| 8,000




SN DEHZD
HE: dNDS25 FE
S DSSAWS(DSAY SHaH) (S5 &2)
- HEE =
SN T BR(BH) - NRAY - BLS 03] &+ o e HRE2
401 Al EHIL 2O 345,317 0 345,317
01 Al& | 342,944 0 342,944
ONABAHDIY AlLD4 179,500
OEE-DIRS 7,50080  * 2,000 15,000
ORS A 470,008 * 35004 164,500
DEEHOY BSEJZ FYD WD &3
300,002 * 50m * 10m 150,000
ONQIEDIY L DZEDIE DA AAILHY|
329,500,008 * 4.08% 13,444
03 Al& S THHI 2,373 0 2,373
ONSEDE @S+ U HSDH AL
Hl 179,500,008 * 0.72% 1,293
DEHOY BSENZ FYR WD &
NEETIY 150,000,008 * 0.72% 1,080
g as =2 30,300 0 30,300
201 Yeregt| 28,300 0 28,300
01 At 22|t 24,000 0 24,000
oL 22 24,000
OLED ZEEE 2,000,008 * 144 * 122 24,000
02 ZT2YH| 4,300 0 4,300
OBHEE MW JLAB2(32R3 < M
A) 150,008 + 128 1,800
OZHER MBW SN (ALFHISAY)
500,008 * 5JH 4 2,500
203 YR =T 2,000 0 2,000
03 Al =@ =X | 2,000 0 2,000
OnSUHYLET 2,000,000 2,000
nEAHH 111,341 0 111,341
201 YEr2g Y| 300 0 300
02 B2 Y| 300 0 300
OO0Z0INTDSH(BZRS L KA 300
TP 50,0008 * 23] 300
307 21201 & 46,680 0 46,680
02 I AR E 30,000 0 30,000
OO0, 0 DEHH DFAIY
30,000, 0002 30,000
04 QRIS AL 15,000 0 15,000
os 5,000
ONSEN =2 HARINHIASS ZoI03
5,000,000%! * 14 A 5,000
oagaH 5,000
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SN DEHHD
Ha: HEDS23 I
Sel: DESAMS (WSAY SE3IH) (B9 @)
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
SIEPE 2,009 * 1002 200
-HHS= 2,000 * 10021 200
ONSRLLLILR IAHI ASE
80 * 1,50021 120
0S=7H(B2R2 ¥ MA) 8,250
OLSRLFEZ INN L S=23 2823 7,250
-S9 1,7502 * 2,50021 4,375
-2t gt 2508 * 2,500 625
-SolgrsE 1,5002 * 1,50021 2,250
ONSRYLLS LN SSUYRSE S
p/PE ] 800
-¥RsE 2,000% * 2002 400
-HHS= 2,009 * 2002 400
ONSRLLLILR AU AEE
80 * 2,50024 * 13l 200
I 1,191,945 0 1,191,945
801 01l 1,191,945 0 1,191,945
01 0il I 1,191,945 0 1,191,945
©0HI ] 1,191,945,00024 1,191,945
HERS2Hs L NHIA HE(DSAY SEaIH) 790,686 0 790,686
HEDE 08843 3 45,960 0 45,960
201 YLet2 bl 32,200 0 32,200
01 AFR 2 2lH] 31,600 0 31,600
OUHERS0IE B 26,000
OALIBA o 2 AIRIEOHY BEH X
2,000% * 10,0005 20,000
OUERS0I85I E2FE
1,0002 * 3,000 3,000
O=N#ZPS 82 BYdtc
10,0002 * 3074 3,000
ouEns FESS =31 5,600
SEEL I E 3002 * 5,000% 1,500
OHFIE M 3002 * 10,000% 3,000
OO HI= 3,002 * 1007H 300
OEZE M= 20,0008 * 40% 800
03 A2 2t 600 600
OS4+TAX FE HELS FAE
300,008 * 23] 600
301 YerE Az 13,760 13,760
10 BAFAIHI 2 & 2 3,760 13,760
OUZERE #E SUERY S| 7,200
ogy st 20,0008 * 20% * 122 4,800




SN NSHFY
MM HADERE HE
Cel: HERESHE 2 MHIA W& (DSAIY SE3IH) (S e
_ _ _ SN E N
SN -FH . SA(BA) - HPAY - BES Ak o 0l o o HDZ2
nsItE =
10,0002 * 209 =128 2,400
oOtzEns &H 23|yl
7,0002 * 20Y  43] 560
OUzENS 43 ey, 23, 2
3| 1,000,0008 * 63l 6,000
AU A ZAAE P2 16,000 16,000
207 & RO | 16,000 16,000
01 4P| 16,000 16,000
OANUBIA2S S AT LA TP
=3 16,000,000 * 14! 16,000
ANUHA ZEX 22 114,000 114,000
401 Al 2 HI LS| 54,000 54,000
01 Al&H] 54,000 54,000
OANUHA EFX OlSASEA R0HL il
17,000,000 * 274 4 34,000
O0ISAl 3tEA AX0 02 A 20,000
OFsx &x 10,000,0008 * 14! 10,000
O34 B Al 10,000,0008 * 14! 10,000
402 BIERH2OI® 60,000 60,000
01 QI2tXEE X 60,000 60,000
OAMUHA BEX SX 22
10,000,0008 * 49§ A 40,000
OXsl, SEEH gl By
10,000,0008! * 2J§ A 20,000
HEWNE HIAANL &5 614,726 614,726
201 Y29 6,000 6,000
01 AL Z2/H 6,000 6,000
oagTH 3,000
OLST A &3 3 2
3,000,0008 * 14l 3,000
OE=Fut- 3,000
OLEZTA &HZ20 P
3,000,0008! * 14 3,000
401 Al 2 HI LS THH| 608,726 608,726
01 Al&H] 605,653 605,653
o=% 56,200
OANUHA £2& 32S &3
100,00080 * 34074 A 34,000
OXMAHA QILOIA(0FY) EAIE &X
300,00094 * 74CH 22,200
oagIH 223,240




SN DEBID
BH: MADESE T
el IZSDSTAE L NHIA K (RSAY SE3H) (ol ®el)
SA-ZH - S2A(3AH) - MEAME - HES Off &+ o4 %Egﬁ Blusz
ONUH2 RHSST &1
12,000,008 * 874 96,000
OAUHIA RHSLE 24 2 B
500,000 * 80K 4 40,000
ORMSLE BIYBLED £HS &% L 24
1,270,5002 = 30744 38.115
OANUHA S2F F4 49,125
~5UY SHA 16,0008 * 250044 « 23] 8,000
-SUF YurEa
3.5008 * 25004 * 473 41,125
CEEEE 326,213
OANUHA RHSBZ &x
12,000,008 * 1244 144,000
OAIBIA &s2& 24 Y B
500,0008! * 907} 45,000
ORMSLE HYPLEOEYS &3 L 24
1,270,500 * 50044 63,525
OAUHA 52 H4 73,688
-5UF SHA 16,0008 * 37542 « 23 2,000
-SUY werE s
3.5008 * 375) 4 * 473 61,688
03 Al & = ChHl 3,073 0 3,073
ongIs 1,254
OAUBIA SHSAE 81 L 24AY 2
CH bl 174,115,008 * 0.72% 1,254
CEEEES 1,819
OAUHIA SHSLE &1 X 24AY 2
CH | 252,525,0002 * 0.72% 1,819
DEIEHAR el(REANY SE3H) 8,999,532 0 8,999,532
2 2,100,000
A 6,899,532
DEUES e 2,461,834 0 2,461,834
201 et | 1,244,944 0 1,244,944
01 AL 22t 10,780 0 10,780
ONSHLHE A2E L 2AST 7Y 2,280
O=AIEY 260,0008 * 10§ * 63l 1,560
O=AEX| 20,0008 * 38t~ « 128 720
o8 ¥ REHE D2 7Y
8,500,0008! * 14! 8,500
02 ZB2 | 1,234, 164 0 1,234, 164
0= (B3 ¥ M) 994,764
ORSHRUE 284,320
8523 100,0008! * 3CH * 128 3,600
-®123 7,700,002 * 128 92,400




2N DEHFD
RS

N3 MNDESH 3
S NEFEMAHAE 22el(nEAMY Sl H) (¢t &
SA-EH O (BH) - HBAY - B2 Ofl A o4 dd = HRS2
O & 04
-—USHEZIHWS)EZ3HAIER
27,0008 * 128 324
~SS HBIH ABE
20,000& = 5503l = 12& 132,000
-Mol=+ SH3 bl 800,000& = 13 800
-2&I| AIEZ 42,9003 = 400 = 128 2,060
-CCTV Sdl&z 2=
2523 * 3,603m * 12& 10,896
-CCTV M E23|& AIE=
88,000& = 40CH = 12& 42,240
OnsStlss JLUNEH =5 34,742
-AMSHA DI 48,7003 = 380CH 18,506
HNSSEF 8,200& * 1,980= 16,236
ONESASHOUII KX E4=H|
20,000,000& = 12& 240,000
OusSAMSHA JNl=2g2aldl
20,000,000& = 12& 240,000
OuUEXCIHBAAE(TGIS) SXE 4| 125,760
-J| R2EE2 0/B KAES
90,000& = 1,034km 93,060
AMNAEEZ D/B RE 20km = 300,000 6,000
A AE STIE 2 (H/w, S/W)
2,225,000& ~ 12& 26,700
OnsZ At et | X2 =tl
30,000,000& * 40CH = 4/100 48,000
Onsazs R84l
20,025,000& * 22% = 4/100 17,622
ONEXEHEH AMEHH X 4,320
-& 2850 12,000,000& * 3CH = 4/100 1,440
-2 MASZSEX
36,000,000 = 2CH * 4/100 2,880
oadTH 84,000
Ooag3 2 nESdlss dIIe=2
35,000& * 2000HA = 12€ 84,000
(@SB~ 155,400
O+ 2 nsSdlass &=
35,000& * 3700 + 12& 155,400
206 i 2 bl 76,800 0 76,800
01 X &4l 76,800 0 76,800
ONESHELAH WSASI sHIT DX
700,000& = 22CH 15,400
ONEANSHONHI BELE=XM 2 61,400
OS2 H O & XI(CPU) 1,000,000& * 10JH 10,000
OAls MO & Xl (SCU) 500,000& = 204 10,000
OXMKAZX E=S (POWER) 500,000& * 1074 5,000
OX 2K 5300A(POWER) 120,000& = 5001 6,000




A DSEFD
H: HINESS HE
thel: DEMSMARN 22l (LSAME SESIH) (el &)
A -3 -H2A(SH) - HEAMY - BES O AFH glggfg Hos
ONSEHEXI(FLS) 250,000& * 200H 5,000
O S &I & XI (MODEM) 500,000& * 20JH 10,000
OblA=a0xg0l stECIA=  800,000& * 74 5,600
OCIA30{el0l Power Supply
7,800,000& * 1JH 7,800
O’SHOH MHEZ Power Supply
1,000,000& * 2J4 2,000
401 Al B2 2T 1,140,090 0 1,140,090
01 Al & Hl 1,136,000 0 1,136,000
OtsSEx: 258 EgR1IE 2L AE
=N 78,000
OxEtlss E=F 120,000& * 5007 60,000
OBdNss E=F 60,000& * 30074 18,000
ounstss RAE=Hl 408,000
OFk=2= 500,000 * 7,600 * 6/100 228,000
OdSE=F 1,000,000 * 3,0002 * 6/100 180,000
odss &X 180,000
O’lESII(dld) Xl 50,000,000& = 374 150,000
OZES(dl4d) 4X 6,000,000& * 54 30,000
OB&#ASS BEX&X &X
600,000& * 200CH 120,000
OL® WE MUSHAWI i
9,000,000& * 15CH 135,000
OLNSHSS ASK Zal3A
10,000,000& * 5JH 2 50,000
OEHE T E LEDEZHES &EXBA
1,650,000& * 10094 A& 165,000
OWsS2ZAIE CCTV IS 0
03 A€ =01 4,090 0 4,090
OWEAE=2 AXAE 20HYI
1,136,000,000& * 0.36% 4,090
HAZEZAAE(BIS)AIY F& 2,326,358 0 2,326,358
201 B2 HH| 699,763 0 699, 763
01 AtR2tel 3,140 0 3,140
OHAEEHH I2IAR EHI 3,140
Omegly &Y 185,000& * 2CH * 43| 1,480
O&X=AI EH 260,000& * 1CH = 33 780
OZMESEI ElH 70,000& * 1CH * 43 280
O=ALE X 20,000& * 3=2A + 103 600
02 2223l 696,623 0 696,623
OHAZEAAE 23232 £ HAl 393,417
ORI 0l0IEFZ(0BE. BIT) 80,100
-0BE 16,5002 = 386CH » 12& 76,428




PN nSHAD
M dANSI2T F
tel: nEFSHAA Zel(LEMY SE3IH) (etel: =3
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
-BIT 9,000& * 3404 ~ 12& 3,672
OBHAZHAIAYE DHIP AIEZ
118,800& = 123 1,426
OHAHZOHHII(BIT) IR 73,152
-JIE 16,0003 * 366CH * 12& 70,272
-4l 16,000& * 3004 * 6& 2,880
OHAHBOHHII(BIT) SalRa 146,304
-JIE 32,000 * 366CH * 128 140,544
-4l 32,000& * 30CH ~ 63 5,760
OHAZEHEH IVIEEEAY 0122 (20M)
2,570,000& = 128 30,840
OHAZESEE 238 (128k)
1,856,000& * 12& 22,272
OHAAIZE &eldl SMS ol=2=
150,000 * 14& » 128 25,200
OHAESBOHND| MIIHMEH =2
48,7002 * 290CH 14,123
OHAEEBAIAE RAES 303,206
OHAZBOIUII(BIT) KX 180,252
IS 2,972,972,000& * 6% 178,379
&l 374,528,000& * 6% * 1/12 1,873
OX&#EHLII(0BE) RXNE+
405,300,000& * 6% 24,318
OLHEBSHEAI RXE+
218,871,000& * 6% 13,133
OAlAE 2S3Hl RAE2=+= 37,717
IS 598,420,000& * 6% 35,906
&l 362,175,000% 6% * 1/12 1,811
Oz Y RAES 32,786
-JIE 540,328,000& * 6% 32,420
-4l 73,150,000& * 6% * 1/12 366
OHAZECHUI ANEERE sS4 R
15,000,000& = TAIAE 15,000
206 T 2 bl 1,200 0 11,200
01 M Z 4l 11,200 0 11,200
OHAESBAET #IT2Q 700,000& * 16CH 11,200
401 AL 2T 1,615,395 0 1,615,395
01 A& HI 1,609,600 0 1,609,600
OHAFEZCHWI| WX L AAFEX 790,000
OBIT =F WAl 14,000,000 = 4504 A 630,000
OBIT &l & Xl 16,000,000& * 10044 160,000
OXLAEZII(0BE) == WA
2,100,000& * 386CH 810,600




SA DSHFD
M dADERS YR
CHel: NEMBHAE 22 (DEAMY ES3H) (&3
- _ _ P NE e
2N -3 - c2(3H) - NEME - HES 0] Ao oﬁf@ Hl =2
OHARECHHNII(BIT) Ol ™A X
3,000,000 * 30 A 9,000
03 Al 201 5,795 0 5,795
OALE 20t 1,609,600,0002 * 0.36% 5,795
HC NEDUZIAIAY = 4,211,340 0 4,211,340
= 2,100,000
Al 2,111,340
401 A& H 2L 20| 4,211,340 0 4,211,340
= 2,100,000
Al 2,111,340
01 Al&H] 4,200,000 0 4,200,000
OF N EDCIAIAE(ATMS) 2=
4,200,000,0002 * 14l 4,200,000
= 2,100,000
Al 2,100,000
03 A& 201 11,340 0 11,340
OB L WS ZAZIAAE(ATMS) 2= AL 20
4,200,000,0002 * 0.27% 11,340
NSEYESH SEALSI(WSAMY SLE3H) 157,966 0 157,966
NI$Q MM ESHRAE 2 157,966 0 157,966
201 L2 A 133,846 0 133,846
01 At2 221 47,096 0 47,096
OM2I=d DX A M (0CR) 66& * 550,000% 36,300
OXHLEY HE(NSLE , 2SAE A )L
2 M 80 * 25,00001 * 43| 8,000
oMY Nl 28 42 ME
100,000 * 304 * 23 600
OMY W HL=Z Z 2 1,296,000 1,29
O-ISI BX =42 1,000 * 5000HK 500
OUHZHIMESZ $£22 2,0008 * 200AH 400
02 22294 86,750 0 86,750
O RERS 86,750
o=yl 1,7502 * 5,000= 8,750
Ot 25024 * 300,000 75,000
Osolersz 1,500 * 2,000 3,000
202 04 H| 6,120 0 6,120
02 204 H| 6,120 0 6,120
OMLGR S SA0H  170,0002 » 3 » 12€ 6,120
303 T A2 18,000 0 18,000
01 TAZ 18,000 0 18,000
OHLH &4 ZAZ 500,0002 » 3H » 12& 18,000
HRSS(DEHE D) 2,291,547 0 2,291,547




FA: nSHEL
MR E

Y HRES (RSB
G2l HWRHAXS(DSAY ES3A) (ctel: &
_ _ _ Muo

SN B SRA(SIH) - MBAY - BAS 04l &k 24 e HlnE2
HEHAHXES(nEAY SE3IH) 2,291,547 0 2,291,547
ANE2e|sE 29 2,291,547 0 2,291,547
309 HES 2,239,758 0 2,239,758
02 A SHIANNEZ 2,239,758 0 2,239,758

OANd22SH =AY SEHEX
2,239,758,000& 2,239,758

04 IO NE2HES 51,789 0 51,789
02 EA- BHI=NES 51,789 0 51,789

51,789,000& 51,789




N = 0l & AF & F Al A

SM: ASCIRRD
HE: =MAE YECA P

Crol: ZESAIO SalX Bel(FHAY SHEH) (el @R
- — _ XN H

SA-E . S(E) - MEAY - BES 01l &4 24 e SImE=ET
A=CIX O 3,400,476 0 3,400,476
SMAR HE A PE 3,400,476 0 3,400,476
FEIAIH O Eeld el (=AY SE3H) 3,400,476 3,400,476
ol gl bl 3,400,476 3,400,476
801 o4 3,400,476 3,400,476
01 ol B4 3,400,476 3,400,476

Ol 3,400,476,000& 3,400,476




N = 0l & AF & F Al A

FA ALMB=R HXZLE D
I DAY

Tl JIBAIARE S 2 BSOIBAA SE5H) (Erol: &2
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
AEMNEER SN XL 260, 146 0 260, 146
S AR 260, 146 0 260, 146

JIBAIE 22 210 AL (J|BAIE EE3H) 260, 146 0 260, 146
JIBIANE RS2 2. &% 30,000 0 30,000

802 Bt&t=2 DI Et 30,000 0 30,000

03 UE2S 30,000 0 30,000
ot 3232 30,000,000& 30,000

ol g1 gl 230, 146 0 230, 146

801 0il 5l bl 230, 146 0 230, 146

01 odlgl bl 230, 146 0 230, 146

Ol 230, 146,000& 230,146




N = 0l & AF & F Al A

SN BEAIZESAYL
DS

HH: HHRSAFU(NSSSMYL)
el D=L (REAY SBE) (el &2
_ _ MNuE o
SA - M. SR(F) - MPAY - BAS Ao il i~ o =2
FSEAAL 671,885 411,882 260,003
SYFU(HFSSAYL) 59,296 39,638 19,658
AU (REAY SBE) 59,296 29,638 19,658
=3y 59,296 39,638 19,658
201 YBr2 | 27,616 17,366 10,250
01 AtR 22l 27,616 17,366 10,250
CRELERS EEETISIE=TT)
13,360, 00024 13,360
CEETIGIEEFIN
6,0002 * 33 * 802 * 90% 14,256
202 01 bl 31,680 22,272 9,408
01 2LHOTH| 31,680 22,272 9,408
CBIE=T] 20,0002 * 33 * 602 * 80% 31,680
S5y 612,589 372,244 240,345
I S=u2(REAY SHIA) 612,589 372,244 240,345
SHSE=UR9 58X 2Y 466,389 341,424 124,965
101 2121t 142,086 75,486 66,600
VEENEEPEERS 142,086 75,486 66,600
OXYSE L SEAL HAG XY
36,6402 * 8% * 242 x 62 42,210
CEPEBIPIESIEEN-E
36,6402 + 28 * 242 « 62 10,553
OXBHSDNA 23
36,6409 * 62 * 242 « 62 31,657
OEEXNY & L HSE ¥
36,6402 * 28f * 242 x 6% 10,553
oML 4
36,6402 + 621 * 242 + 62 31,657
OIAMZ2X 2B UASLHSLLD 15,456
SELI-E 126,630,000 * 4.5% 5,699
SELIEEY 126,630,0002 * 2.82% 3,571
ORIIQUH 3,571,008 * 6.55% 234
ons=d 126,630,000 * 1.4% 1,773
OUATHH LA BER 126,630,000 * 3.3% 4,179
201 YEr2 Y| 253,928 253,845 83
01 A2 22l 88,725 44,684 44,041
oXYSE B2 YA 88,725
OHMEY 428 2 15,352
—AOINZRIE EU
260,000 * 14TH = 13| 3,640
-DXMEY DEH &Y
500,00020 * 1CH * 53l 2,500




SN BEAIZSESAYL
HH: HNDESSHE

tel: ISkt SSE22(nESAMY SE3A)

SA - EB SR (B]H) - MEAY - BlA O &b o e
-HAEH 70,000& = 5CH * 63 2,100
-2AMI| EYH 260,000& * 3CH = 53| 3,900
-Q1=) 28 528,000& = 4&+X+ 2,112
-AMESSAI ZE X 110,0003 * 104K 1,100

OgRU =2 5,100
-AgE A 400,000& = 13 400
~ABIOKE CHE A2 150,0008 * 123] 1,800
~EIjotE Bl (A AE

100,000& * 123 1,200
-AHASZEEHI =2 400,000& = 13 400
SHAHIS 2AEA 42

1,300,000& * 13 1,300

OMNSXLAHSE HIE 7,000& * 500% 3,500

OXNsSXsES HH MA 500& + 10,0000H 5,000

ONSKHRAEZ U B2 OHY B9

70,000& * 2I0 A = 43| 560

OQAHAEI|IHESAF HES 8,000& =+ 5000H 4,000

OXNsSXt&eld ZHA L 80,000 = 5& 400

OXNsSIsE2E AA ol 46,430
AR, BHE 0ESEAEAN 95

3,500& * 100& * 9& *x 23] 6,300
“HMEY 22 NN 25
3,500& * 1002 * 2& * 23] 1,400
MG, LA HEDAH O ERNSKE 175
3,500& * 20 x 178 * 23] 2,380
-XNSXEAF ot & DEilE XD XM 5
ES 80,000& * 24X+ * 5F * 33| 2,400
-OIR2EEH oL & MNEHE RUDXA 55
80,000 * 2& Xt » 5& * 33 2,400
~MNSIHLESHA 353 * 40,0000 * 23] 2,800
-ANSUHSES 50& = 40,00000 * 23] 4,000
-NSHEEFSR 253 = 40,00000 * 33 3,000
-RESEH2MIE AAXMHEIEX HUH2
250,000& = 28fA x 23] 1,000
—EYXNE HYEE U
250,000& * 38tA x 13| 750
-FENANDIYEES DXA
80,000& * 1504t Xt 12,000
-=AE220XA 80,000& = 50&FAt 4,000
-==1XAM 80,000& = 50&F At 4,000

ORZBEIUHE HEXN BESUHNAZTSE S
Il === 3,600
-A=2SE =2 3,000& * 600AH 1,800
-AZHM == 3,000& * 600AH 1,800

ONHE MEX 2HEI =2

250,000& = 53| 1,250




SM: BENIYS
Hu: HNDES5

thelr NSk SE22(LSMY SESIH) (el =2
SN H - SR(EH) - NPAMY - BES 0] &F o e HRE2
OLIotHE<R0l T=H|
230,000& = 39 = 23 1,380
O3J1&#&J| ¥X= 59,800& 304 = 123 2,153
02 2324l 165,203 209, 161 A43,958
0Z232= ¥ HMAl 144,181
ORERS 120,582
-S 7 1,750& = 3,000&8 * 128 63,000
- gt 250& * 15,0008 * 12& 45,000
-SJIEtSE 1,500& » 600 * 128 10,800
-HHEsZ 2,9708 » 508 = 123 1,782
OMIIe= 1,000,000& * 128 12,000
Odste=a 100,000& = 400 » 128 4,800
ORdLEtIes 25,0008 123 300
OFEEAMAZAE WPC SRS
30,000& * 100 = 123 360
OMEXY HaHIAX LR E SER=
55,000& » 100 = 123 660
OQHYUNH 28z 35,000& = 128 420
O3 125,000& = 128 1,500
OZNERE=S 150,000& * 23| 300
QusSmYRE= 200,000& * 13 200
OOt E 3| 48,000& * 13 48
O3 HZHISRA MEEBSEE |
95,070& * 2H 191
ONENEE Ha s XN MASL= 900
-SE=EE 200,000& * 104 200
282 50,000&  1H = 123 600
-XtS XAl 100,000& = 13 100
OXsit2teld, YA S HF It
HE AEZ 80& * 2,000 * 123 1,920
(©Fil=3:] 7,981
Oplaa g 7,981
=5
1,330& = 22 * 8AI2H = 404 » 90 7,661
-= X 80,000& * 4LCH 320
OA&EEHIS X 10,041
ZFH 1,500,000 = 40CH = 6/100 3,600
Odliol =g 750,000& = 40CH * 6/100 1,800
O& XS A 3,700,000& = 3CH = 6/100 666
@RIE=p) 1,265,000& = 6CH * 6/100 456
OBAESED| 1,500,000& = 4CH * 6/100 360
O2M A 1,500,000& = 2CH * 6/100 180
OLXA &8 Zeld
8,000,000& * 1CH = 6/100 480




SM: BENIYS
Hu: HNDES5

Gl UHSxt SEAC(nEAY SE3H) (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
O=2AMEED| 6,600,000& * 1CH * 6/100 396
OHSEHEEI  2,200,000& = 1CH = 6/100 132
OR#E=2 s8Il 5,850,000& = 1CH = 6/100 351
OSBEIYSXBIALY STB4
4,500,000& * 141 = 12/100 540
OxaXzelzz218 S+
9,000,000& = 1Al » 12/100 1,080
Ot et 3,000
O&Z2ite =AM 3,000,000& = 1CH 3,000
202 044l 2,040 2,040 0
02 XYl 2,040 2,040 0
OAHEIIA =J| /AL =0
170,000& = 18 » 128 2,040
207 A2 OH £ H| 15,000 0 15,000
02 & &HJHEH 15,000 0 15,000
OTRAYRY ABIANAY 2=
15,000,000& * 14 15,000
301 et a=s 17,205 10,053 7,152
09 SUAZRRALZHS 17,205 10,053 7,152
ONsSIsE g2 X 17,205
OZ2A2RR 24z 16,230
—-Ql 24H| 88,0008 5% = 12& 5,280
-S4l 5,000& = 5& = 25¢ » 12& 7,500
- EHl 2,300& = 59 = 25¢ » 12& 3,450
Ol =l 975
=225 60,0008 » 5% x 25 600
-gets 75,0008 * 5% * 15 375
405 XHaHF S 36,130 0 36,130
01 A =EZHSHI 36,130 0 36,130
OHIANFE FHI7E 36,130
OdYe2LIH % BFREH(XNSHS HHE)
2,000,000& = 3CH 6,000
OdioldZeld 1,600,000& = 5CH 8,000
O& = A 4,000,000& * 1CH 4,000
OR2AMESED| 400,000& = 1CH 400
OCLIXNE3ttel(HsE RNLRE)
500,000& = 1CH 500
OF(1:1bd 1,100,000& * 14 1,100
Ozl gH 0= 600,000& * 14 600
OSxH (el ) 150,000 = 2574 3,750
OgdE FAX 400,000& * 104 4,000
OZ Y XHEO0I4]) 50,000& = 3504 1,750




SA: BEATRE
M MEDE23

thelr NSk SE22(LSMY SESIH) (ctel: &
SN HB SR (BIH) - A - B S 0l &b S D=2
- T - = S = &= 0:”/&,% WS
OQEHEAN 4,200,000& * 1= 4,200
O AH(RIAOH) 250,000& * 2JH 500
OO0l S A EH(2I20tLH) 230,000& * 34 690
ONFE 160,000& = 404 640
oMot B AE FHAr2al 146,200 30,820 115,380
307 21Ztol 67,320 16,320 51,000
05 BIZtRIE S 67,320 16,320 51,000
OSIZHIAIAE AL EHH|
110,000& = 12& 1,320
OXNBS=ALA HA U
1,600,000&  1H = 123 19,200
OXESE AU =20I
1,300,000& = 3% » 128 46,800
401 A& Bl 2 CHHI 78,880 14,500 64,380
01 A& HI 78,880 14,500 64,380
OFZY UL SA 25,200,000& » 14 25,200
O=HUIIAAE &X 5,200,000& = 14 5,200
ORIAA EATE HXSAM
18,480,000& * 14 18,480
=X S A 5,000,000& * 2042 10,000

S
&S HXSAHANHXEZ)

20,000,000& =+ 1A 20,000




